Installation Guide
SRR S

VEHICLE APPLICATIONS VOLKSWAGEN GOLF MK5, A5, Typ 1K 2004-2008

: VOLKSWAGEN GOLF MK6, A6, Typ 5K 2009-2013
i)
EFEE VOLKSWAGEN GOLF MK7, A7, Typ 5G 2014- PART NO. 8586
ContentS mgzﬁ X gggé%ﬁ¥£%n§%¥éls for installation @
[=15mm-—|

1. Low Down Adapter For Rear Lower Arm ™ 2 B [#{K & 2PCS

"ﬁ .
2. Adjusting plate FAZ# / 4PCS adeL?Sl::I:'lpe?’Iltn::OCk

Tf I £ SR B S B
3. Bolt M12 (88mm) 1244M12 (88mm) 2PCS 7

, (0~15mm)

4. Bolt M12 (70mm) $24M12 (70mm) 2PCS

5. Nut M12 $2#EM12 4PCS
6. Bolt M8 #2#M8 2PCS

7. Nut M8 $21EM8 2PCS

. . o == X Please read the HARDRACE Tech Tips before installing the products.
Installation tips SERIER #2245 > 313 50 HARDRACE # 12

Recommended Torque
HEHRNE
M12{80~100Nm
M8 |40~60Nm

Rear lower arm will be lowered by |}
40mm after installation. [
18 inches (or larger) rims are
suggested.

% T ZEEE40mm
ERBERT18N LER

HARDRACE Tech Tips EiifiEm

Warning! Risk of Death may be caused by vehicle slipping or toppling off the jacking platform.

5 EIREHNEET - EWMAB SR UETEMASRBIGEHE

Motor vehicle mechanical knowledge is expected. In some country & states, fitment may only be legally performed by a licensed mechanic. Check the
regulation in your area.

ERL T BERMEMAMERSECFENERNEE S EETETERMARB T INITERRE - UElx

When swapping the suspension kits, be sure to note the routing and mounting position of all wires, cables and bolts orientation, certain damage might be
caused by reinstalling differently from the original factory position. Please refer to factory manual for proper installation and safety stands.
EERCEENERENR B TENKARERRERMUE - FERERNZRUBETRTEMTH ZBRIR - ERERNGERE - FSERMERTM

.
g/ TEL: +886 3 5370822 FAX: +886 3 5373027
E-MAIL: info@hardrace.com WEBSITE: WWW.HARDRACE.COM

10

=
g,:
[=]



